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Exercice 1

Cocher les bonnes réponses :
550 est divisible : (] par 2 [l par 3 [l par 5 (] par 9 0] par 10
81 est divisible : L] par 2 Ul par 3 Ll par 5 L] par 9 U par 10
873 est divisible : (] par 2 [l par 3 [l par 5 (] par 9 0] par 10
96 est divisible : L] par 2 U] par 3 Ll par 5 L] par 9 U par 10
315 est divisible : (] par 2 (] par 3 [l par 5 (] par 9 0] par 10

Exercice 2

Cocher les bonnes réponses :
126 est divisible : L] par 2 Ul par 3 Ll par 5 L] par 9 U] par 10
78 est divisible : (] par 2 [l par 3 [l par 5 (] par 9 0] par 10
720 est divisible : L] par 2 U] par 3 Ll par 5 L] par 9 U] par 10
290 est divisible : (] par 2 (] par 3 [l par 5 (] par 9 (] par 10
162 est divisible : L] par 2 Ul par 3 Ll par 5 L] par 9 U] par 10

Exercice 3

Cocher les bonnes réponses :
711 est divisible : L] par 2 Ul par 3 Ll par 5 L] par 9 U] par 10
177 est divisible : (] par 2 (] par 3 [l par 5 (] par 9 0] par 10
215 est divisible : L] par 2 Ul par 3 Ll par 5 L] par 9 U] par 10
970 est divisible : L] par 2 U] par 3 Ll par 5 L] par 9 U] par 10
86 est divisible : (] par 2 [l par 3 [l par 5 (] par 9 (] par 10

Exercice 4

Cocher les bonnes réponses :
175 est divisible : (] par 2 [l par 3 [l par 5 (] par 9 0] par 10
190 est divisible : L] par 2 U] par 3 Ll par 5 L] par 9 U] par 10
288 est divisible : (] par 2 [l par 3 [l par 5 (] par 9 (] par 10
117 est divisible : (] par 2 [l par 3 [l par 5 (] par 9 (] par 10
38 est divisible : L] par 2 Ul par 3 Ll par 5 L] par 9 U] par 10

Exercice 5

Cocher les bonnes réponses :
264 est divisible : L] par 2 Ul par 3 Ll par 5 L] par 9 U] par 10
420 est divisible : (] par 2 (] par 3 [l par 5 (] par 9 (] par 10
450 est divisible : L] par 2 Ul par 3 L par 5 L] par 9 U] par 10
22 est divisible : L] par 2 Ul par 3 Ll par 5 L] par 9 U] par 10
378 est divisible : (] par 2 [l par 3 [l par 5 (] par 9 (] par 10

Exercice 6

Cocher les bonnes réponses :
252 est divisible : (] par 2 [l par 3 [l par 5 (] par 9 0] par 10
940 est divisible : L] par 2 Ul par 3 Ll par 5 L] par 9 U] par 10
846 est divisible : (] par 2 [l par 3 [l par 5 (] par 9 (] par 10
460 est divisible : (] par 2 [l par 3 [l par 5 (] par 9 (] par 10
160 est divisible : L] par 2 Ul par 3 Ll par 5 L] par 9 U] par 10
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